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Multiply by 0.1 and 0.01 Convert metric units

Formal methods, multiply integers Formal methods, multiply decimals 

Completethe following calculations: completethe following conversions:

1(82x8.1 =82x1 =82 =10 =8.2 14km =
4888

M 47 0.8m = 88
CM

18

2) 882x0.1 =80.2 2) 28000cm =200 M 3) 6.3L =6300m/

3) 802x8.81 = 8.02
3)38888g =30

ug 6) 7cm =0.007hm
4) 80.250.1 =8.82 8.7m

3) 80.2 x 0.81 =0.882

Completethese calculations: If 42x/37 =5754

111857 3) Productof 84and 12. Find:
x84

1" 583 I 1) 4.2x/37 =575.45)42x1.37 =5.754
16 81008
848

2) 0.42 +137:57.54674.2x13.7 =575.4
2) 2 82 4) 63x99

iq4↓ -99 3) 420 +137 =57548738.42x1378:575.4

-2.5,37
5"948 4) 4280:137 : 37548887428 x 1378:373483
6237


